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Note : This paper contains fifty (50) multiple-choice questions, each question carrying
two (2) marks. Attempt all of them.

T YIS H U= (50) Fg-Tashe ™ U9 § 1 IS U9 T (2) 37 € | Wt Ul o IR

i |
1.  Which of the following is not instructional material ?
(A) Over Head Projector (B) Audio Casset
(C) Printed Material (D) Transparency
2. Which of the following statement is not correct ?

(A) Lecture Method can develop reasoning

(B) Lecture Method can develop knowledge

(C) Lecture Method is one way process

(D) During Lecture Method students are passive

3.  The main objective of teaching at Higher Education Level is :
(A) To prepare students to pass examination
(B) To develop the capacity to take decisions
(C) To give new information
(D) To motivate students to ask questions during lecture

1. 9 9 @ S TeyH 9t 787 § 2
(A) 3R T YR (B) enfedt &
(C) =T |t (D) IOt

2. 99990 T FuA v T §?
(A) % Wifsa o1 T = fafy gro 2 gk €1
(B) = o ferehre =are forfer Ry &1 ek B
(C) =~ fafyr we axe wiean §1
(D) = fafy & SR =™ ffssa ga €

3. 3= fnen & T w e 1 Usu R9A T
(A) BE H! T8 I8 F F AU TR S
(B) TIofa o =t et =1 fasma a1
(C) & JIMahI 1|
(D) AN & QA Y94 Y21 o faie =1 &l 9Ra e |
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Which of the following statement is correct ?

(A) Reliability ensures validity

(B) Validity ensures reliability

(C) Reliability and validity are independent of each other
(D) Reliability does not depend on objectivity

Which of the following indicates evaluation ?

(A) Ram got 45 marks out of 200

(B) Mohan got 38 percent marks in English

(C) Shyam got First Division in final examination
(

D) All the above

Research can be conducted by a person who :
(A) has studied research methodology

(B) holds a postgraduate degree

(C) possesses thinking and reasoning ability
(

D) is a hard worker

Which of the following statements is correct ?

(A) Objectives of research are stated in first chapter of the thesis
(B) Researcher must possess analytical ability

(C) Variability is the source of problem

(D) All the above

Which of the following is not the Method of Research ?
(A) Observation (B) Historical
(C) Survey (D) Philosophical

Research can be classified as :

(A) Basic, Applied and Action Research

(B) Quantitative and Qualitative Research

(C) Philosophical, Historical, Survey and Experimental Research
(D) All the above

WXYZ—00 4
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10.

11.

12.

The first step of research is :
(A) Selecting a problem (B) Searching a problem
(C) Finding a problem (D) Identifying a problem

Read the following passage and answer the question nos. 11 to 15 :

After almost three decades of contemplating Swarovski-encrusted navels on
increasing flat abs, the Mumbai film industry is on a discovery of India and itself. With
budgets of over 30 crore each, four soon to be released movies by premier directors are
exploring the idea of who we are and redefining who the other is. It is a fundamental
question which the bling-bling, glam-sham and disham-disham tends to avoid. It is
also a question which binds an audience when the lights go dim and the projector
rolls : as a nation, who are we ? As a people, where are we going ?

The Germans coined a word for it, zeitgeist, which perhaps Yash Chopra would
not care to pronounce. But at 72, he remains the person who can best capture it. After
being the first to project the diasporic Indian on screen in Lamhe in 1991, he has returned
to his roots in a new movie. Veer Zaara, set in 1986, where Pakistan, the traditional
other, the part that got away, is the lover and the saviour. In Subhas Ghai’s Kisna, set
in 1947, the other is the English woman. She is not a memsahib, but a mehbooba. In
Ketan Mehta’s The Rising, the East India Englishman is not the evil oppressor of countless
cardboard characterisations, which span the spectrum from Jewel in the Crown to
Kranti, but an honourable friend.

This is Manoj Kumar’s Desh Ki dharti with a difference : there is culture, not
contentious politics; balle balle, not bombs : no dooriyan (distance), only nazdeekiyan
(closeness).

All four films are heralding a new hero and heroine. The new hero is fallible and
vulnerable, committed to his dharma, but also not afraid of failure - less of a boy and
more of a man. He even has a grown up name : Veer Pratap Singh in Veer-Zaara and
Mohan Bhargav in Swades. The new heroine is not a babe, but often a bebe, dressed in
traditional Punjabi clothes, often with the stereotypical body type as well, as in Bride
and Prejudice of Gurinder Chadha.

Which word Yash Chopra would not be able to pronounce ?
(A) Bling + bling (B) Zeitgeist
(C) Montaz (D) Dooriyan

Who made Lamhe in 1991 ?
(A) Subhash Ghai (B) Yash Chopra
(C) Aditya Chopra (D) Sakti Samanta

WXYZ—00 6



10.

11.

12.

T T qUH G €
(A) THE &1 =TI (B) THE I gal
(C) E 9T T Tdl T (D) 99 &I g9

Ffeiad sTese &t Uied aaT 11 @ 15 d & G941 & 39¢ g9y :
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H o7ut SISl it AR e 3T 1 I8 fihew 1986 % SR W aMenfia § fored mfsheam =1, <t fo
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3 = et B SR SRS 1 T 791 <50 TS0 L@ § | 39 ¢ R | HESidi ¢, 98
AN &, T g o Yfd FE@Em ¢ i STl 9 @l 721 § - 98 gaeh &H, T5% SAQl
B 31 A ot gRusTdr 1 Udie © ;TR SR H R yadfEe iR ey’ # Hed unig | |18
ERIET I HAMHT G §HIT Tl § sfesh IRIRR Gorst foamd d 33 R a1 et ol €,
St fo TR =gt =+t aee wve Isygfen’ H fewdt ¥

791 =gl R Ig o e o gaed T 8 e ?

A) T + = (B) SR
(C) T (D) el
1991 ¥ ov% g o off ?

(A) g = (B) = <l
(C) enfe =Te (D) vIfed |4
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13.  Which movie is associated with Manoj Kumar ?
(A) Jewel in the Crown (B) Kisna
(C) Zaara (D) Desh Ki dharti

14. Which is the latest film by Yash Chopra ?
(A) Deewar (B) Kabhi Kabhi
(C) Dilwale Dulhaniya Le Jayenge (D) Veer Zaara

15. Which is the dress of the heroine in Veer-Zaara ?
(A) Traditional Gujarati Clothes
(B) Traditional Bengali Clothes
(C) Traditional Punjabi Clothes
(D) Traditional Madrasi Clothes

16.  Which one of the following can be termed as verbal communication ?
(A) Prof. Sharma delivered the lecture in the class room.
(B) Signal at the cross-road changed from green to orange.
(C) The child was crying to attract the attention of the mother.
(

D) Dipak wrote a letter for leave application.

17.  Which is the 24 hours English Business news channel in India ?
(A) Zee News (B) NDTV 24x7
(C) CNBC (D) India News

18. Consider the following statements in communication :

(i) Hema Malini is the Chairperson of the Children’s Film Society, India.

(ii) Yash Chopra is the Chairman of the Central Board of Film Certification of India.
(iii) Sharmila Tagore is the Chairperson of National Film Development Corporation.
(

iv) Dilip Kumar, Raj Kapoor and Preeti Zinta have all been recipients of Dada Saheb
Phalke Award.

Which of the statements given above is/are correct ?

(A) (i) and (iii) (B) (i) and (iii) (C) (iv) only (D) (iii) only

WXYZ—00 8



13.

14.

15.

16.

17.

18.

TSl HAR § ST fhen dafyd g2

(A) g 51 < B (B) faw&
(C) ™ (D) < I &l
I =ael i AT fhed HiFEt § 2

(A) AR (B) Hi-=eft
(C) fearamet geefal & WM (D) RSN
RS H S i gH TR ?

frfafad § & forge difgs ToR F81 S Tl § 2

(A) TIHEI IMT A el | oleer fea |

(B) TRIE WSS & & A 1 i 8 T |

(C) Ty 7ot AT 1 &AM STUT 3TR STRftd & & forq foeen @1 o)
(D) <9® 7 TN U 7q T 7 @ |

HRd ﬁ ZAJLEITPCr T dlcdl qule?‘leh HHIHEIR 12{'1('1 EARESI %.7
(A) St =S (B) TASKIET 24 x7
(C) HIAeTt (D) sfUean ==

TR 9 Getug feafafEd saH | foar #if

() T Ao faee fren Srmd, sfean 1 eteman €

(i) I =9ST IRG F YA 9IS ATh fthen Fiefherym & 78t €1

(ili) SIHET IR I fhed STaaTTHe HTARIM 1 TE8T |

(iv) Teef™ FOR, T FR IR Widt ffer 1 <1 TRe ek TRehR foar 7
ST H § I H/H w2

(A) (i) 3R (iii) (B) (i) 3R (iii) (C) I (iv) (D) I (iii)
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19.

20.

21.

22.

23.

24.

25.

26.

Which of the following pair is not correctly matched ?
(A) N.Ram : The Hindu

(B) Barkha Dutt : Zee News

(C) Pranay Roy : NDTV 24 x7

(D) Prabhu Chawla : Aaj taak

“Because you deserve to know” is the punchline used by :
(A) The Times of India (B) The Hindu
(C) Indian Express (D) Hindustan Times

In the sequence of numbers 8, 24, 12, X, 18, 54 the missing number X is :
(A) 26 (B) 24 (C) 36 (D) 32

If A stands for 5, B for 6, C for 7, D for 8 and so on, then the following numbers stand
for 17, 19, 20, 9 and 8 :

(A) PLANE (B) MOPED (C) MOTOR (D) TONGA

The letters in the first set have certain relationship. On the basis of this relationship
what is the right choice for the second set ?

AST : BRU : : NQV : ?
(A) ORW (B) MPU (C©) MRW (D) OPW

In a certain code, PAN is written as 31 and PAR as 35. In this code PAT is written as:
(A) 30 (B) 37 (C) 38 (D) 39

The sides of a triangle are in the ratio of %%i . If its perimeter is 52 cm, the length of
the smallest side is :
(A) 9cm (B) 10 cm (C) 11 cm (D) 12 cm

Which one of the following statements is completely non-sensical ?
(A) He was a bachelor, but he married recently.

(B) He is a bachelor, but he married recently.

(C) When he married, he was not a bachelor.
(

D) When he was a bachelor, he was not married.

WXYZ—00 10



19.

20.

21.

22.

23.

24.

25.

26.

frofefaa & @ s g gafea 78 €2

A) @Wmwm . Tfeg
(B) s@Ies S =S
(C) YA TE :  TASREl 24x7
(D) 9Y =E CISERED

" iR SR STTeRT ST R "' 39 Yiod o1 JAIT fohar S ©
(A) T ITEH A 30 g (B) <fegsm
(C) zfream Twuyw N (D) f&g&M <B4 g1

8,24, 12, X, 18, 54 3% 4@en H, @ ik X T :
(A) 26 (B) 24 (C) 36 (D) 32

I AF A58, BRI YA 6 8, C HI A 7 8, D 1 Yoo 8 511G &, 1 FAfafaa deansi o
e § - 17,19, 20,9 3R 8 :
(A) PLANE (B) MOPED (C) MOTOR (D) TONGA

TR T & el B U fafew Geiy ¥ 1 39 Gely o SMUR R g HY=d % fau wet fasey
HITAT T ?

AST : BRU : : NQV : ?

(A) ORW (B) MPU (C) MRW (D) OPW

et e & PAN %1 31 % &9 | for@n Sam § iR PAR 1 35 % &9 ® foren s 81 39 fe o
PAT & faq e s ¢

(A) 30 (B) 37 (C) 38 (D) 39

T IS it Tt 1 ST %%% 71 afe sg=t ufify 52 ¥ fR €, 9 ST TR B
STl %1 TG ©

(A) 9 &L (B) 10 &4 (C) 11 &, (D) 12 4.

freafafed & & Har & Hod ;e 2
(A) € Fam o1, fhg 38 Tt & o faare e §1
(B) 9% $aN g, fheg 38 =1t &1 H foae o B
(C) @ 357 faare fran o1, qe 98 Sar e o
(D) el 98 $a I, 79 o8 faanfed T&f o
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27.

28.

29.

Which of the following statements are mutually contradictory ?

(i)  All flowers are not fragrant.

(i) Most flowers are not fragrant.

(iii) None of the flowers is fragrant.

(iv) Most flowers are fragrant.

Choose the correct answer from the code given below :
Code :

(A) (i) and (i) (B) (i) and (iii)

(C) (i) and (iii) (D) (iii) and (iv)

Which of the following statements say the same thing ?
i)  “I am a teacher” (said by Arvind)

ii) “I am a teacher” (said by Binod)

(

(

(iii) “My son is a teacher” (said by Binod’s father)

(iv) “My brother is a teacher” (said by Binod'’s sister)

(v)  “My brother is a teacher” (said by Binod’s only sister)

(vi) “My sole enemy is a teacher” (said by Binod’s only enemy)

Choose the correct answer from the code given below :

Code :
(A) (i) and (ii) (B) (i), (iii), (iv) and (v)
(C) (ii) and (vi) (D) (v) and (vi)

Which of the following are correct ways of arguing ?

(i) There can be no second husband without a second wife.

(ii) Anil is a friend of Bob, Bob is a friend of Raj, hence Anil is a friend of Raj.
(iii) A is equal to B, B is equal to C, hence A is equal to C.

(iv) If everyone is a liar, then we cannot prove it.

Choose the correct answer from the code given below :

Code :
(A) (iii) and (iv) (B) (i), (iii) and (iv)
(C) (i), (iii) and (iv) (D) (i), (ii), (iii) and (iv)

WXYZ—00 12



27.

28.

29.

frifafad & § 9 HYT TER SAE € 2
() Tt Tt garrad & B ¥

(i) AT o Fantda &l Bd |

(i) RIE T ot GaTrdd Tl il |

(iv) AT Fel garfad e ¥

Freafafed #e & wel 3R g :

&

(A) (i) 3R (i) (B) (i) 3R (iii)
(C) (i) 3R (iii) (D) (iii) 3R (iv)

freafafed & & #9 HU" T& & a1 ®ed ¢ ?

() “H uw e € (SRfa R e )

(i) *H e e € (forie g0 et )

(i) ‘‘O0 A U A ¢ (fore % fuar gr et )

(iv) ‘00 9 U reamass B (foAe #t 981 510 e )

(v) 00 9E T Fearasw ' (faig &) shelidt ded 510 el )

(vi) ‘' Zhard I3 T T ' (e o shalid 19 g1 el )

freferfan e & wé 3R g
&

(A) (i) 3R (i) (B) (i), (i), (iv) ¥R (v)
(C) (i) 3 (vi) (D) (v) 3R (vi)

freafafas o @ 9 a9 % <1 HE ¥ 2

() T80 I F fo gua ufa =@ & "enan

(i) 3T, e 1 fae €, e, T o1 fi @, eora: etfat, o o1 e 2
(i) A, BF UM, B,C % TUM g, 3a@: A, C % TAH B

(iv) afc Tt sTcaarel €, df g9 39 &t fag el i dhd

fireferfiad 2 & W S 9T ;

¢

(A) (iii) R (iv) (B) (i), (iii) 3R (iv)
(C) (i), (iii) 3R (iv) (D) (), (i), (iii) 3R (iv)
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30.

31.

32.

33.

Which of the following statement/s are ALWAYS FAISE ?

(i)  The sun will not rise in the East some day.
(i) A wooden table is not a table.

(iii) Delhi city will be drowned under water.
(iv) Cars run on water as fuel.

Choose the correct answer from the code given below :

Code :
(A) (i), (iii) and (iv) (B) Only (iii)
(©) (), (i) and (iii) (D) (ii) alone

Study the following graph and answer question numbers 31 to 33 :

——@&—— Year 2000
—&—— Year 2001

Percent profit earned

COMPANY
In the year 2000, which of the following Companies earned maximum percent profit ?

(A) a (B) b © d (D) f

In the year 2001, which of the following Companies earned minimum percent profit ?

(A) a (B) © d (D) e

In the years 2000 and 2001, which of the following Companies earned maximum
average percent profit ?

(A) f (B) e ) d (D) b

WXYZ—00 14



30. fiAfofEd o | F 91/4 F97 G 370 B4 & 7
() Tt for 9 oo & 3fea =& <
(i) TTHel %1 AN, U &l B
(i) & IR I H <& S |
(iv) HR U EeF % w9 H TS o |
frefafad % 9 @&l ) g .
.
(A) (i), (iii) 3R (iv) (B) had (iii)
(©) (), (i) 3R (i) (D) e (i)
ST 3@ T 3767 HITT T U979 7 31 6 33 @k & 39 GIeIT -
——e—— % 2000
—=—— 35 2001
70 —
60 —
50
%40
%30
5
10
LA e e e e e e e
a b o d e f
FaTt
31. a9 2000 #, 59 9 9 fhg et 7 Faifys gfaea oy o fohan ?
(A) a B) b ©) d (D) f
32. =¥ 2001 #H, f159 9 9 fore ssat 3 =Fad gfaed ey o foha ?
(A) a B) < ©) d (D) e
33. 99 2000 T4 2001 ¥, f1o0 # 9 form sheut 3 Haifess ofiga wfaea oy g fowan ?
(A) f (B) e ©) d D) b
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31.

32.

33.

34.

35.

* FOR BLIND STUDENTS ONLY *
Read the following paragraph and answer question numbers 31 to 33 :

Five years ago, Middle East-based builder Ronald Colaco took two foreign friends
to the Fraser Town Police Station in Bangalore to complete some paper work. He and
his friends were appalled by the cramped, 1917 - built police outpost. Then and there,
Colaco decided to do something for the city’s 13,500 strong police force. But he knew
he could not work a miracle alone. Luckily, he found a kindred soul in Bangalore
Police Commissioner S. Mariswamy.

Armed with information gathered from personal station visits, Mariswamy wrote
to Bangalore’s industry captains. Corporate and individual donors - Colaco was the
first - have contributed nearly Rs. 20 Crore. Today, nearly 40 police stations in Bangalore
have sponsors. Wipro, Philips Software, Canara Bank, State Bank of India, Toyota
Kirloskar and Tata Consultancy Services are a few.

Which Police Station was visited by Ronald Colaco, which was built in 1917 ?
(A) Bangalore Police Station (B) Police Outpost
(C) M.G. Road Police Station (D) Fraser Town Police Station

Who is S. Mariswamy ?
(A) Bangalore Police Commissioner (B) Middle East-based builder
(C) Industrialist (D) Chairman of Philips Software, Bangalore

To develop the Police Stations who was the first donor ?
(A) Ronald Colaco (B) Canara Bank
(C) Wipro (D) Toyota Kirloskar

Human Development Report for ‘each’” of the year at global level has been
published by :

(A) UNDP (B) WTO
(C©) IMF (D) World Bank

The number of students in four classes A, B, C, D and their respective mean marks
obtained by each of the class are given below :

Class A ClassB ClassC ClassD
Number of students 10 40 30 20
Arithmetic mean 20 30 50 15

The combined mean of the marks of four classes together will be :
(A) 32 (B) 50 (C) 20 (D) 15
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g faenfean & fau

1o fafea sTg=ec ®l dfgd qe 31 9 33 0% o Ul o SeR IIT :

e 598 & w1 THT 7, HeA TR § 99 wed Fian IMmee wiament oo 31 foeeh s
1 | TR HIE HITS HIAATE T HH o AT S7TeR & o 2 oM 789 | o 1R 379k it
1917 ® 9 39 gt gferd =kt &t B1eTd S@H S | ® T | SHT T HIATR 7 e w1
foran for @ SR 13,500 F9A Ifaq wHAl & T 8 ®T0 | Al o 4 o foh o Tkt
Rt SRR 1 TS T2 < TR | ST § 3% e & e ATgsa T, ARG o &9 |
T 3Tl =i et |

FT AT HI SN F JLE T8 TGN o SR TR TR 7 SeR o it s 9
e <1 1 ST TR | wRuie s AR et gmeran, 999 il gagem 9, o1sft 9@
AT 20 FUE T. I ANCH § ob o | Feufd 78 8 TF o9 ST o @19 40 o1 & fag
TSI IS B T ¥ 1 3 9 F9 fau, fRfaw wised iy, 0 9%, W d% o sfve,
At foraieany 31 2rer Faeedt ¥ |

31. IS RIATR! §R SIAET I o <@ T o, feent fmfor 1917 7 gatm o ?

(A) STeR gfe™ o (B) i 3= U

(C) THSIS Yferd wIM (D) SR 2= Yferd =IH
32. U, WG ®F §?

(A) TR ferH AT (B) WA U &1 wed fufan

(C) EwMfd (D) TR Hrseer dTeR #1 eTeaet
33. gferm ol % fasm & fow geyem grem & 92

(A) TS HIATHI (B) & &®

(C) form (D) 2w fohatent
34. fova W W YSF o9 gAA SaaTHe RO &1 Yo foran S @ -

(A) J AW, g (B) Y.L §N

(C) STE.UH.TH. N (D) fawa S= gr

35. A,B,C, 3R D wenei | faenfaai i g X STt el g’ U Sired ki i T e g

HEMTA &l B Han C %1 D

IECIRRIEAREE 10 40 30 20

RO STa 20 30 50 15

T AR HESA & 3Tl Ht WY Hd B

(A) 32 (B) 50 (C) 20 (D) 15
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36.

37.

38.

39.

40.

41.

42.

LAN stands for :
(A) Local And National (B) Local Area Network
(C) Large Area Network (D) Live Area Network

Which of the following statement is correct ?
(A) Modem is a software

(B) Modem helps in stabilizing the voltage
(C) Modem is the operating system
(

D) Modem converts the analog signal into digital signal and vice-versa

Which of the following is the appropriate definition of a computer ?
(A) Computer is a machine that can process information.

B) Computer is an electronic device that can store, retrieve and process both
p P
qualitative and quantitative data quickly and accurately.

(C) Computer is an electronic device that can store, retrieve and quickly process only
quantitative data.

(D) Computer is a machine that can store, retrieve and process quickly and accurately
only qualitative information

Information and Communication Technology includes :
(A) On line learning (B) Learning through the use of EDUSAT
(C) Web Based Learning (D) All the above

Which of the following is the appropriate format of URL of e-mail ?
(A) www_mail.com (B) www@mail.com

(C©) WWW@mail.com (D) www.mail.com

The most significant impact of volcanic erruption has been felt in the form of :
(A) change in weather (B) sinking of islands

(C) loss of vegetation (D) extinction of animals

With absorption and decomposition of CO, in ocean water beyond desired level, there
will be :

(A) decrease in temperature (B) increase in salinity

(C) growth of phyto plankton (D) rise in sea level

WXYZ—00 18



36.

37.

38.

39.

40.

41.

42.

TA.TTA. (LAN) Heslfed il § ¢

(A) diHd TS T/HAA (B) ool TfieT Teadh
(C) TSt TS Hedeh (D) <Ed TR Hedsh
frrfafaa 5 @ 9 91 Ha7 &l § 2

(A) TIZH T Heam |

(B) TISH, dicest i feadfienor i H Werd S B

(C) HISH Us mwfen fawy g1

(D) TIeH, e fara #i fefsea fama # iR 59 fauda seea g1

o B | HoeX Tl ITYSK TR iF o 72

(A) FHR TH WA § S G=1 Fl FeIRa T Fhat |

(B) THRR T Tetuel-eh fearsd § S [uncHeh SR Wi TSR ! UL, T3: W 3R
e i § HE- W HHA Y Hehall |

(C) HoFR T Toiogl-eh fEamEd ¢ Sl UsAKHs SHEN i GUed, I: W iR diatd 9
GG T Hehell T |

(D) FoIR T A & S [OMCHSE IHFN 1 GUE, TH: W IR g fd ¥ gdt-ge
Tefid R Tkl ¢ |

G Ud SR et | wfenfad €
(A) 3 @EA (On line) @ (B) EDUSAT & Hea® | HE
(C) d9 9% (Web Based) H&T (D) STASA Tt

19 % 9 3-Aa % . 3IRTA. (URL) FT D T IEY 39T © 7
(A) www_mail.com (B) www@mail.com
(C) WWWe@mail.com (D) www.mail.com

STATE! IR & Haiee Agequl 9mE i efd g ¢
(A) g 9fede & ®9 9 (B) Ui % gUA G
(C) oeafd &1 &@ e @ (D) TYati %1 faeia g9 @

HEEIE S § CO, & WM Fifsd & ifesh sTerii qen fasied g & @
(A) A9EE § (B) WNUA ¥ s Bt
(C) TR wished | gfg Bt (D) wMfes &R H UM M
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43.

44.

45.

46.

47.

Arrange column II in proper sequence so as to match it with column I and choose the
correct answer from the code given below :

Column 1 Column I1
Water Quality pH Value
(a) Neutral i) 5

(b) Moderately acidic (i) 7

(c) Alkaline (iii) 4
(d) Injurious (iv) 8
Code :

(@ () (o) (@)
A) () G @) (@Gv)
B) () @) @) (v
C) (i) @ (@v) (i
D) (Gv) (i) (i) ()

o~ o~ o~ o~

—

The maximum emission of pollutants from fuel sources in India is caused by :
(A) Coal (B) Firewood
(C) Refuse burning (D) Vegetable waste product

The urbanisation process accounts for the wind in the urban centres during nights to
remain :

(A) faster than that in rural areas

(B) slower than that in rural areas
(C) the same as that in rural areas
(

D) cooler than that in rural areas

The University Grants Commission was constituted on the recommendation of :
(A) Dr. Sarvapalli Radhakrishnan Commission

(B) Mudaliar Commission

(C) Sargent Commission
(

D) Kothari Commission

Which one of the following Articles of the Constitution of India safeguards the rights of
Minorities to establish and run educational institutions of their own liking ?

(A) Article 19 (B) Article 29 (C) Article 30 (D) Article 31
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43.

44.

45.

46.

47.

hTeTH 1 %! sh1erd 16 gafad o o fae aqfea om3Ha o =aftad s qon = fau T e
q 9 SR g

&1 1 HITT 11
ST T JUTASIT pH &I
(a) g i 5
(b) W T i) 7
() &R (iii) 4
(d) wIehTR (iv) 8
- i

(@ b)) () (@)
(A) () @) @ (@)
B) () (i) @) (iv)
(©) () @ (@v) (i)
(D) (@v) @) (i) @)

JRd B U Bl Y YUR] 1 Gaifesh ISt B

(A) HFA g (B) <TeeH N
(C) e 9™ ¥ (D) aTeafd TR IE 5N
TR YOHAT & HRO I H TR H 91

(A) TTHIOT &5 R STUeT it Tl 2|
(B)  TITHIOT &5 1 7T it W&l ¥
(C) o &1 et & @t €

(D) TITHIOT &5 1 279eT 32 Wl B

frfafas 4 @ urdia Sfaam &1 S TF AT IeUdSIH] w1 T T w1 ety
HeqeAl o1 TNfd Ud Genfeld i o TR <kl TRI Y| Hidl ¢ ?

(A) TR 19 (B) 3TT=R 29 (C) &TT=sR 30 (D) #Tg=s] 31
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48. Match List - I (Institutions) with List - II (Functions) and select the correct answer by
using the code given below :
List - I (Institutions) List - IT (Functions)
(a) Parliament (i)  Formulation of Budget
(b) C&AG. ii) Enactment of Budget
(c) Ministry of Finance iii) Implementation of Budget
(d) Executing Departments iv) Legality of expenditure

v) Justification of Income

(@ (b)) (© (@)
(A) (i) (@v) @G) @)
(B) (i) (v) @ (i)
Q) (v) (i) (v) (i)
(D) (v) @) (i) (v)

49. Foundation training to the newly recruited IAS (Probationers) is imparted by :
(A) Indian Institute of Public Administration
(B) Administrative Staff College of India
(C) L.B.S. National Academy of Administration
(D) Centre for Advanced Studies

50. Electoral disputes arising out of Presidential and Vice-Presidential Elections are settled

(A) Election Commission of India
(B) Joint Committee of Parliament
(C) Supreme Court of India

(D) Central Election Tribunal

-00o0-
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48.

49.

50.

T (ST 1 G 11 (HTaT) § gHferd i g 9 {33 T e 1 T R HE TN ¢

Tt 1 (HemT ) Tt 11 (&)
(a) HES (i) S o FET
(b) HI. TuS . (i) S w1 SATYEIHA
(c) To=1 wae™ (iii) @SS 1 oA
(d) TIHN faam (iv) =IF ! e
(v) 3T & ifa
g

(@ (b)) (© @)
(A) (i) (@v) @G) (@)
(B) @) @Gv) @@ (i)
Q) (v) (D) (@v) (i)
(D) Gv) @) (@) (V)

T Tafd e T, (WHTTH) R SRy gfereror fean s ¥
(A) sfreaT RIS o Ufvers Tefifeyd g

(B) TeHfTEfea WI® hicls 3% sfvean gr

oo

(C) UA.E.TH. A3d TheH! % TSHMAEIH g1

(D) ¥ ER TESA=E Lee gN

Tyufa IR SwpHfa % <Al @ Gest-od foaml o1 e fHan s #
(A) YRA & frated A& gr
(B) €U i Wgsa WA g
(C) 9RA o S=Aq9 <A g

(D) =i A SR §R

-00o0-
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